YTBepxaaro
TexHUYEeCKUl AUPEKTOP

Anucenkon O.A.

“ 7 2011r.
HepequL OCHOBHBIX }]eTaJ'[eﬁ M V3J10B
NHJIbI eNTHOW 3JIeKTPHYECKOM
nmd2-2 M
Ne HanmenoBanue K. 34 | lpyxuna Gonbas 1 69 | llaiiba 4 npykuHHas 4
1 IIIHYD CeTeROl 1 (15x15,9x1,6) 70 | Bunr M4x14 4
P 35 | Bunat M4x10 1 71 Bont M8x36 2
2 TpyOka 3ammuTHas 1 -
36 | lllaii6a 4 npyxxuHHAS 1 72 | Bunt 4x16 camopes 2
3 Bunt 4x12 camopes 2 = -
37 [1Tai10a 4 1 73 dnanen nepeaHen 1
4 [TnactuHa mprxumHas | 1
5 Kopmyc eBbrii 1 38 | Bunr M4x10 1 74 | VIIOTHUTEND 1
= 39 | lllaiiba 4 npyXxuHHAS 1 75 | Buat M5x50 1
6 Bont cneunanbHblil 2 40 | Ilaii6a 4 1 > 1
4,2x75 camopes anoa 76 H_[TI:I(i)T MOJBHKHOM
7 dnaner] 3agHui 1 41 Brynka peraara 1 77 [1aii6a 1
8 | Illerxa 6,5x11x20 2 Topmosa 78 | Benymas 3Be3nouka 1
9 BoIKITIO9aTens 1 42 | Koneco Hacoca 1 79 | Konblio cromopHOe 1
43 KonbLo cronopHoe 1 10
10 | Kypok BBIKJIIOYATEs 1 o3
11 | Brok miaBHoro mycka | 1 80 | Pykostka 1
12 | OGoiima meTKn 2 44 | HopueHs Hacoca B 1 81 | Bunt 5x20 camopes 4
13 KoHTakT P cbope 82 | BcraBka Kopnyfa 2
14 | Crarop 1 jj; HICCTCPHA i 83 | Kopmyc nmpasbiit 1
15 | Kongencarop 1 -~ | Kopuyc 84 | Bunr 4x16 camopes 7
45 Bunat M4x12 2 85 Kpbiika 1
16 Ochb pplyara TopMo3a 1 46 laiica 4 5
17 | PykosiTka TOPMO3HOTO 1 anba = MpyKUHHAA 86 BCfaBKa KpPBIIIKH 1
yCTpoiicTBa 47 | Illaii6a 4 2 87 | TI'aiika crienmanbHast 2
» 48 | Bunr M4x12 1 M8
18 | Illaiiba 4 1 29 | Laica 4 0
19 | Bunr 4x8 camopes 1 anba
20 | KonrakTHOe 1 YBCMHUCHHAA
CTPOICTRO 50 | TpyOka nojmauu macna 1
P 51 BunT 4x10camopes 4
21 Kpsimmka 6auka 1
72 | Bagok 1 52 Ppruar Topmo3sa 1
53 Bunat M4x10 1
23 tyuep Oauka B 1 -
c6ope 54 | llaii6a 4 npyxuHHAs 1
23.1 | npyxwuna (7x19x0,5) 1 53 H'[?H6a 4 !
56 I"aiika M8x1 1
23.2 | BTyJKa 1 =
233 | sarymka 1 57 | llaiiba 8 mpyxuHHAS 1
234 | wrynep 1 58 | Iecrepusa Z=12 1
24 | Tpy6ka nosaun macna 1 59 | Bunt 4x16 camopes 2 [ IaBHBIH TeXHOJIOr
5 Tinadbparma 1 60 | Bunt 4x16 camopes 4 Kyapsimos JLA
26 | Hogmmmank 608 Z 1 61 | Kopryc pexyxropa !
(8x22x7) 62 | INogmunuuk 6000 Z 1
27 | Sxops 1 (10x26x8)
27a | Brynka TopmosHas 1 63 | Kombuo cronoproe 1
28 | lllnonka cerMeHTHas 1 BHyTpeHHee J26
2.4x3.6X9 64 | Tlogmmmauk 6000 Z 1 NHxeHep-KOHCTPYKTOP
29 | Bunr M4x10 2 (10x26x8) Terpos B.T.
30 | Illaii6a 4 npyxuHHas 2 65 KSJICCO 3yGuaroe 1
31| Illaii6a 4 2 2=49
66 [nonka 4x4x10 1
32 | Topmo3zHoe 1 o 0
YCTPOHCTBO 67 MTHHICITD
33 | Hpysxuna Manas 1 68 ligmémnmﬂc 6001 Z 1
(9,5x11,2x1,4) (12x28x8)




n_2-2M  Jlucr 2




